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QUESTION 1

Which feature in the User Level Access security model gives each user or group its own set of permissions for files or
directory access? 

A. Long username 

B. Shared username 

C. Individual username 

D. Encrypted password 

Correct Answer: C 

 

QUESTION 2

What is the minimum node configuration which will allow CPP to operate? 

A. 4 

B. 8 

C. 12 

D. 16 

Correct Answer: B 

 

QUESTION 3

What type of clip is this: 

"DQS5E527CBR7Kx66SB2O6GI0I3KG4113AV4DC50JDED1DDMCMOALE"? 

A. Cdf 

B. Blob 

C. C-clip 

D. Metadata 

Correct Answer: B 

 

QUESTION 4

During profile creation, which file type is stored on the local host? 
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A. .gif 

B. .pea 

C. .prf 

D. .txt 

Correct Answer: B 

 

 

QUESTION 5

Replication has an autopause feature to automatically pause the replication process. Which criteria would cause
replication to be automatically paused? 

A. Remote cluster is 75% full 

B. Application profile mismatch 

C. 1000 clips in the parking queue 

D. 50,000 clips in the replication queue 

Correct Answer: B 
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